
Laser Test Stand Progress

Camden Ertley



Setup

MCP: Mark­0
HV: 1900V
Events: 5000
CFD: Ortec 9327
     Threshold: ­50mV
     Walk: 5mV
Start: laser sync
Stop: MCP output
Laser: 635nm

*Changes to old setup in red.



Results

10dB 
att40.611.19561.80.03443.58260.05166257.58719

10dB 
att24.31.35172.00.03523.632530.0519258.2818

4.26.09342.20.05335.149880.07496151.51717

9.3320.24932.4.06766.479760.09386152.31716

7.044.5142.60.087.84453.123155.4415

4.2931.97252.80.11610.23120.1596166.89714

2.2648.69443.00.15415.58220.2166178.73713

1.8447.49313.10.17215.19780.2436182.03712

1.3851.19663.20.1916.38290.286187.94711

1.0457.42443.40.2368.37580.321190.3210

0.91661.26943.50.24519.60620.3176190.85709
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Results

Run: 719
ND filter: 1.8
Npe: ~40 (this is with the 
assumption of 6x10^5  gain)



Results

Jitter vs Npe
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Jerry’s results



Future Work

• Use one MCP as the start and one MCP as the 
stop for the TAC.
– Waiting on new equipment from Ortec to arrive.

• 9327 CFD
• 2nd High Voltage

• Gain Measurement
– Use the Rabbit test stand, higher resolution.
– Find Npe then calculate the gain at different voltages.
– Useful for new tubes.

• Get New MCP


